

TENDER NO. 6751

FOR: Micro-Surfacing Treatment (Eastern Region - East)

TABULATION OF TENDERS

ROAD NO.: BRIDGE SITE NO.:

LOCATION: Falcon Lake-St. Andrews-Lockport-Selkirk-Sprague-Zhoda-

Beausejour and Mitchell Area

LENGTH: 203

SUMMARY OF PRICES

CONTRACTOR	SECTION 1	SECTION 2	SECTION 3	SECTION 4	SECTION 5	SECTION 6	SECTION 7	SECTION 8	BID TOTAL
MSO Construction Ltd.	598,030.00	307,000.00	545,040.00	344,250.00	882,150.00	351,900.00	901,450.00	307,000.00	4,236,820.00
Nelson River Construction Inc.	615,015.00	311,400.00	560,520.00	350,325.00	917,490.00	358,110.00	941,985.00	311,400.00	4,366,245.00
West-Can Seal Coating Inc.	630,585.90	319,284.00	574,711.20	359,194.50	939,959.40	367,176.60	965,834.10	319,284.00	4,476,029.70



TENDER NO. 6751

FOR: Micro-Surfacing Treatment (Eastern Region - East)

TABULATION OF TENDERS

ROAD NO.: BRIDGE SITE NO.:

LOCATION: Falcon Lake-St. Andrews-Lockport-Selkirk-Sprague-Zhoda-

Beausejour and Mitchell Area

LENGTH: 203

SUMMARY OF PRICES

CONTRACTOR	SECTION 9	BID TOTAL	
MSO Construction Ltd.	241,800.00	4,478,620.00	
Nelson River Construction Inc.	241,335.00	4,607,580.00	
West-Can Seal Coating Inc.	247,445.10	4,723,474.80	

TABULATION OF TENDERS



TENDER NO. 6751

FOR: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.:

BRIDGE SITE NO.:

LOCATION: Falcon Lake-St. Andrews-Lockport-Selkirk-Sprague-Zhoda-Beausejour and Mitchell Area

LENGTH: 203

SECTION I: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.: 1

REGION 1

LOCATION: Vicinity of Falcon Lake WORK ORDER NO.: P01058

	Γ		NAME OF BIDDER MSO Construction Ltd.		NAME OF BIDDER Nelson River Construction Inc.		NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER	
DESCRIPTION OF WORK	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.)	395	t	1,514.00	598,030.00	1,557.00	615,015.00	1,596.42	630,585.90		
				598,030.00		615,015.00		630,585.90		0.00
	BID TOTAL			4,478,620.00		4,607,580.00		4,723,474.80		0.00

TABULATION OF TENDERS



TENDER NO. 6751

FOR: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.:

BRIDGE SITE NO.:

LOCATION: Falcon Lake-St. Andrews-Lockport-Selkirk-Sprague-Zhoda-Beausejour and Mitchell Area

LENGTH: 203

SECTION II: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.: 8

REGION 1

LOCATION: Vicinity of St. Andrews WORK ORDER NO.: P01062

			NAME OF BIDDER MSO Construction Ltd.		NAME OF BIDDER Nelson River Construction Inc.		NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER	
DESCRIPTION OF WORK	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.)	200	t	1,535.00	307,000.00	1,557.00	311,400.00	1,596.42	319,284.00		
				307,000.00		311,400.00		319,284.00		0.00
	BID TOTAL			4.478.620.00		4.607.580.00		4.723.474.80		0.00

TABULATION OF TENDERS



TENDER NO. 6751

FOR: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.:

BRIDGE SITE NO.:

LOCATION: Falcon Lake-St. Andrews-Lockport-Selkirk-Sprague-Zhoda-Beausejour and Mitchell Area

LENGTH: 203

SECTION III: Micro-Surfacing Treatment (Eastern Region - East) ROAD NO.: 9 REGION 1

LOCATION: Vicinity of Lockport WORK ORDER NO.: P01063

DESCRIPTION OF WORK	Γ		NAME OF BIDDER MSO Construction Ltd.		NAME OF BIDDER Nelson River Construction Inc.		NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER	
	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.)	360	t	1,514.00	545,040.00	1,557.00	560,520.00	1,596.42	574,711.20		
				545,040.00		560,520.00		574,711.20		0.00
	BID TOTAL			4,478,620.00		4,607,580.00		4,723,474.80		0.00

TABULATION OF TENDERS



TENDER NO. 6751

FOR: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.:

BRIDGE SITE NO.:

LOCATION: Falcon Lake-St. Andrews-Lockport-Selkirk-Sprague-Zhoda-Beausejour and Mitchell Area

LENGTH: 203

SECTION IV: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.: 9

REGION 1

LOCATION: Vicinity of Selkirk WORK ORDER NO.: H01754

DESCRIPTION OF WORK	Γ		NAME OF BIDDER MSO Construction Ltd.		NAME OF BIDDER Nelson River Construction Inc.		NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER	
	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.)	225	t	1,530.00	344,250.00	1,557.00	350,325.00	1,596.42	359,194.50		
				344,250.00		350,325.00		359,194.50		0.00
	BID TOTAL			4,478,620.00		4,607,580.00		4,723,474.80		0.00

TABULATION OF TENDERS



TENDER NO. 6751

FOR: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.:

BRIDGE SITE NO.:

LOCATION: Falcon Lake-St. Andrews-Lockport-Selkirk-Sprague-Zhoda-Beausejour and Mitchell Area

LENGTH: 203

SECTION V: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.: 12

REGION 1

LOCATION: Vicinity of Sprague WORK ORDER NO.: P01069

	Г		NAME OF BIDDER MSO Construction Ltd.		NAME OF BIDDER Nelson River Construction Inc.		NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDD	ΞR	
DESCRIPTION OF WORK	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
Micro-Surfacing (Oil Supplied by Cont.) Extra Work	570 1	(Oil Supplied by Cont.) 570 t 1 \$	t \$	1,495.00 30,000.00	852,150.00 30,000.00	1,557.00 30,000.00	887,490.00 30,000.00	1,596.42 30,000.00	909,959.40 30,000.00		
				882,150.00		917,490.00		939,959.40		0.00	
	BID TOTAL			4,478,620.00		4,607,580.00		4,723,474.80		0.00	

TABULATION OF TENDERS



TENDER NO. 6751

FOR: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.:

BRIDGE SITE NO.:

LOCATION: Falcon Lake-St. Andrews-Lockport-Selkirk-Sprague-Zhoda-Beausejour and Mitchell Area

LENGTH: 203

SECTION VI: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.: 12

REGION 1

LOCATION: Vicinity of Zhoda WORK ORDER NO.: P01070

DESCRIPTION OF WORK Micro-Surfacing (Oil Supplied by Cont.)	Γ		NAME OF BIDDER MSO Construction Ltd.		NAME OF BIDDER Nelson River Construction Inc.		NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER	
	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	230	t	1,530.00	351,900.00	1,557.00	7.00 358,110.00	1,596.42	367,176.60		
				351,900.00		358,110.00		367,176.60		0.00
	BID TOTAL			4,478,620.00		4,607,580.00		4,723,474.80		0.00

TABULATION OF TENDERS



FOR: Micro-Surfacing Treatment (Eastern Region - East)

TENDER NO. 6751

LOCATION: Falcon Lake-St. Andrews-Lockport-Selkirk-Sprague-Zhoda-Beausejour and Mitchell Area

BRIDGE SITE NO.:

LENGTH: 203

ROAD NO.:

SECTION VII: Micro-Surfacing Treatment (Eastern Region - East) ROAD NO.: 12 REGION 1

LOCATION: Vicinity of Beausejour WORK ORDER NO.: P01072

DESCRIPTION OF WORK	Γ		NAME OF BIDDER MSO Construction Ltd.		NAME OF BIDDER Nelson River Construction Inc.		NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER	
	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.)	605	t	1,490.00	901,450.00	1,557.00	941,985.00	1,596.42	965,834.10		
				901,450.00		941,985.00		965,834.10		0.00
	BID TOTAL			4,478,620.00		4,607,580.00		4,723,474.80		0.00

TABULATION OF TENDERS



TENDER NO. 6751

FOR: Micro-Surfacing Treatment (Eastern Region - East)

ROAD NO.:

BRIDGE SITE NO.:

LOCATION: Falcon Lake-St. Andrews-Lockport-Selkirk-Sprague-Zhoda-Beausejour and Mitchell Area

LENGTH: 203

SECTION VIII: Micro-Surfacing Treatment (Eastern Region - East) ROAD NO.: 44 REGION 1

LOCATION: Vicinity of Lockport WORK ORDER NO.: P01075

	Γ		NAME OF BIDDER MSO Construction Ltd.		NAME OF BIDDER Nelson River Construction Inc.		NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER	
DESCRIPTION OF WORK	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.)	200	t	1,535.00	307,000.00	1,557.00	311,400.00	1,596.42	319,284.00		
				307,000.00		311,400.00		319,284.00		0.00
	BID TOTAL			4 478 620 00		4 607 580 00		4 723 474 80		0.00

BRIDGE SITE NO.:

2017-04-11

INFRASTRUCTURE AND TRANSPORTATION

TABULATION OF TENDERS



FOR: Micro-Surfacing Treatment (Eastern Region - East)

TENDER NO. 6751

LOCATION: Falcon Lake-St. Andrews-Lockport-Selkirk-Sprague-Zhoda-Beausejour and Mitchell Area

LENGTH: 203

ROAD NO.:

SECTION VIII: Micro-Surfacing Treatment (Eastern Region - East) ROAD NO.: 44 REGION 1

LOCATION: Vicinity of Lockport WORK ORDER NO.: P01088

LENGTH: PROJECT NO.: 7380

NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER **MSO** Construction Ltd. **Nelson River Construction Inc.** West-Can Seal Coating Inc. **ESTIMATED** QUANTITIES **DESCRIPTION OF WORK** UNIT UNIT PRICE **AMOUNT** UNIT PRICE AMOUNT UNIT PRICE **AMOUNT** UNIT PRICE **AMOUNT** Micro-Surfacing (Oil Supplied by Cont.) 155 1,560.00 241,800.00 1,557.00 241,335.00 1,596.42 247,445.10 241,800.00 241,335.00 0.00 247,445.10 **BID TOTAL** 4,478,620.00 4,607,580.00 4,723,474.80 0.00

Ver:3-070207 Page 11